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SIHASL  2025¢
Ol &t Xt 0 20l
A= - HEHEX™IIS

OP=mNE—+ (el &)
- = A = Xl E A =
g = =N HEEUN s g = XEH HACXIENH s
s A 1,367,339 2,459,670 A1,002,331| & Al 1,367,339 2,459,670 1,092,331
& = = 160,000 0 160,000 | Bl & Xt & At HI 700,000 1,310,000 2610,000
2 S = 0 0 0= Xt & At HI 0 0 0
oo 2 0 0 o] & 2 &bl 0 0 0
Eollnma ) 0 0 0[7 = 7 o 0 0 0
HE2A338 4 0 0 ol & 32 0 0 0
o Xl = 2 =+ 1,183,666 2,445,000 A1,261,334 | Ol Xl = 667,339 1,149,670 A482,331
o o = 0 0 Olnezaczus 0 0 0
o X = g 23,673 14,670 9,003 | ol =2i22 4t & 0 0 0
J &8 = ¢ 0 0 of21 &+ X = 0 0 0
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8201 : 20254
OIAHRI 1 204t
ST HEPEIIZ

@ = (crl: @)
.38 2 A.O| OH ddT = ot = |H o
tl- = = T e _J'K_OIOH S B d‘ = LH =
200 Mlel==¢ 23,673 14,670 9,003
210 FAEAI2 23,673 14,670 9,003
216 OlXt==¢ 23,673 14,670 9,003
216-01 S30WS30IX=+=& 23,673 14,670 9,003
O3303 Okt =
23,673
700 EMUSHUE I H 1,343,666 2,445,000 21,101,334
710 2823 1,183,666 2,445,000 21,261,334
714 OIxIZal= 1,183,666 2,445,000 21,261,334
714-01 OIXIZ3l = 1,183,666 2,445,000 21,261,334
OUXI= 2= =
1,183,666
720 LIS HeH 160,000 0 160,000
721 d3 160,000 0 160,000
721-03 J|EFSIHE LS 160,000 0 160,000
SRR ERE -
160,000
= 2 & A 1,367,339 2,459,670 21,092,331




SIHAE - 20254
Oll&bXb 0 20
2AHF=E - FEgdlls
® XEA=E (el &)
AN .22 . HY - O9 - MBAY - BAS ney | fo | vas2
Il ZFA 1,367,339 2,459,670 1,092,331
2ot 1,367,339 2,459,670 1,092,331
FEZAMI 2 700,000 1,310,000 2610,000
FEEXN) |2 ESA(FEHLAI ) 700,000 1,310,000 A610,000
Y - AERE =Yl K& 100,000 100,000 0
301 LEEASF 100,000 100,000 0
03 ArS|2&X 462 (K2 HS) 100,000 100,000 100,000 0
OFEMERE =dl X& 1,000,000&*1009% = 100,000
&= H4E Level Up 30,000 30,000 0
307 QIHoIA 30,000 30,000 0
02 SIZHFAAHEER 30,000 30,000 30,000 0
O&= HY Level Up » 302 10,000,000&*3M L = 30,000
HEAUESRD 243AIY 30,000 30,000 0
307 QIHoIA 30,000 30,000 0
02 SIZHFAAHEER 30,000 30,000 30,000 0
OEEUHESRD S43IAIY * 14 30,000,000& = 30,000
FHgSdEH =4 540,000 1,150,000 2610,000
401 AIEHIZ20HY| 540,000 1,150,000 A610,000
01 Al&Hl 540,000 540,000 1,150,000 A610,000
OFHESHE EXI0ILYI = 540,000
MLESOIEXTHA) 667,339 1,149,670 A48 ,331
BAEXNES(HELEIZ2)(HEILED|S) 667,339 1,149,670 A482,331
HEALMIIZ X3 667,339 1,149,670 A482,331
602 OllXI= 667,339 1,149,670 A\482,331
01 LBHOIXIZ 667,339 667,339 1,149,670 A482,331
OyELEIIZ GIXl = 667,339
os g A 1,367,339 2,459,670 21,092,331
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(0l R=EY)
20194 kX 0 0 0
20209 0 0 0
20219 % 0 0 0
20228 &= 0 0 0
202349 &= 2,519,485 2,500,000 0
20243 % 14,670 0 0
20259 &= 183,673 160,000 0
Al 2,717,828 2,660,000 0
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OB T % Jl=2l | 2l2a8

20198 Al 0 0 0 0
20208 = 0 0 0 0
20218 0 0 0 0
20229 0 0 0 0
20238 &= 40,692 40,692 0 0 2,478,793
20243 % 1,310,000 1,310,000 0 0 ~1,295,330
20258 = 700,000 700,000 0 0 A516,327
Al 2,050,692 2,050,692 0 667,136




4. OiXlz & GIS= SAl

SIHSHET + 2025H
Ol &t X 0 20l &
SAPE - MEASHI|IS

GIXl & GilEreH
7= OIXI(E6) A
2023 =2 S XHH 0249 H@ | 2025EH =L EIHAD 52(0-@)
Bl 2,478,793 1,183,666 667,339 A516,327
OIXl= 2| 2,478,793 1,183,666 667,339 N516,327
NHsE 2,478,793 1,183,666 667,339 N516,327




